Modern Home Kitchen @iack (WCF31) [ % robud
Designed By ((EIALD
Assembly Instruction

www.robud.com
Please follow this instruction to avoid assembly errors. 98.1WCF31.150
For customer service, please contact E-mail: shop@robud.com

p
>

L

(i ¢

A WARNING:

B CHOKING HAZARD-Small parts. STRANGULATION HAZARD-Long cord.
Not suitable for children under 3 years.

B Toys intended to be assembled by an adult. Children should use the product
under adult's guidance.

m After opening the package,please keep the packaging items such as plastic film
or bags away from babies and children to avoid danger of suffocation.

MAINTENANCE:

m Please keep the product away from fire, substances flammable and
humid environments to prevent damage.
m Please keep the product away from water, and don't put liquid in the toy sets.
B Please clean the product with dry soft cloth,don't clean this product with
chemical cleaners: alcohol, ammonia water, glass cleaner, etc.
®m The instruction must be retained since it contains important information.

| -Jl‘l"J




Assembly Tips

Assembly time: 3 - 4 hours

(Please prepare them by yourself.))

_——

&)

<

—

Lﬂj Recommended Tools: @:@ &)

Electric drill

- Avoid overtightening screws during assembly.
- Screws should be fully tightened once.
- Arrange all accessories on a hard, flatsurface

for assembly.

- Follow the instructions step by step.

contact Robud ) ~
-—
7

If you feel hard to assemble the toy or there is any other problem that
makes you feel unhappy with the product, please contact us shop@robud.com.
We are glad to do our best to solve your problem and provide a solution to your satisfaction.

p
n Notice:

:

When assembling the door stop,
hold the screw with the screwdriver first

and then adjust the screw to the position
shown on the left.




Product Parts

o
[T
x1
@ I @ I
x1 x1
o ®
—-
x1
®
1
®

x1 x1 x1 x1




Product Parts

21 @ 23 24 I
X2 x1 x1 X2
25 26 27 28
] (R
x1 x1
29 (32
Cre—ee)
x1 x1 x1 x1
33 34 35 (36
° 0l ] .
x1 x1 x1 x1
(37 38 @
. ) —
x2 x1 x1 x1




Product Parts

® @ ® @

[ ] ==

x1 x1 x1 x1

) @ @ @

m

1\?
$ 1 =
x1 x1 x1 x1

@ 50 @ @ —

e::——“"S
/® o $

1 IS|SS
x1 x1 x1 x1

Hardware

@ @d D 57

—_B
o M3.5x32 M4x20
X8 X2 xX73 x17

58] @ @ @
%l T ¥

M4x18 M4x8 M3x12 M4x40
x13 x4 x16 x2




Hardware

T = l l 4
x1 x1 x1 x1
S |e® | O | @
X6 x1 X1 X2
X2 x1 x1 x1




Assembly Instruction

M4x20
x4 pcs

o .  H

I Notice:
The assembling direction of each part.

(56) E—

M3.5x32
x4 pcs

n Notice:
Align the wooden dowel hole on the left first.

H Notice:
Align the wooden dowel hole on the left first.

6 @) . -

M3.5x32

I Notice:
First align the wooden dowel with the hole of e




Assembly Instruction

o . H

M4x20

n Notice:
Adjust the door stop.

' @meﬁ @m




Assembly Instruction

I Notice: @ le"j

Wrap the fabric around the woodenstick, M4x20
and secure the hook and loop. X2 pcs

[RE= )

__‘\__-‘\"‘- —
Il Notice: @ GE
The notch should face inward. M4x18




Assembly Instruction

@= O ® L

M3x12
X2 pcs

n Notice:
Adjust the door stop.

H Notice:
Align the holes in the arrow direction.




Assembly Instruction

H Notice:
First align the hole on the left.

= @ _ P4 o —

H Notice:

The direction of
the hinge hole on @

n Notice: @XZ

n Notice:
Align the holes in the arrow direction.

10



Assembly Instruction

H Notice:
Adjust the door stop.
33 )
M3.5x32 M3.5x32
X2 pcs x1 pcs

n Notice:

The direction of (B ' :

@b Q= @

( M3.5x32 x1 pes M3x12

X2 pcs

I Notice:
Align the wooden dowel hole on the left first.

1



Assembly Instruction

S — 37 o —

M3.5x32 M3.5x32
x1 pcs

H Notice:
Distinguish the different
shapes of
39 ®) .
H Notice: M3.5x32
) x5 pcs

Align the holes in the arrow
direction on both sides of

> Align the wooden dowel
hole on the left.

D)

M3.5x32
X2 pcs

N
=
-
i
~
S
. \@

n Notice:

First align the wooden dowel and
then tighten the screw on the right side.

12



Assembly Instruction

o o, & @1

M4x6 M4x18
Te ®x2

x1 pcs X2 pcs X2 pcs
>@

13



Assembly Instruction

Insert the door into the corresponding groove,

Insert the corresponding
hinge into the upper hole.

. Insert the lower hinge into

the hole of the bottom board.

n Notice:
The assembly steps are the same as in Step 48.

o . H . B3 o= 0.

M4x18 M4x18 x1 pes M3x12
X2 pcs x2 pcs X2 pcs

B Notice:
Adjust the door stop.

14



Assembly Instruction

53 o4 ]
-n Notice: . @X-f @ %

Align corresponding holes in the arrow direction. 1 i1 X7 pos
S P

]

[ [ D \ H Notice:
\

\‘ , The direction of boards.

15



Assembly Instruction

H Notice:
Open the oven door, hang the string
on the groove, and place €9 inside.
Then, close the oven door.

H Notice: |m
Open two small drawers and

then assemble the top half part. L =

Adjust to align with holes of connecting parts. \\ '
@ N 32mm _:‘ @ 20mm -

M3.5x32 M4x20
x4 pcs X2 pcs

16



Assembly Instruction

59 You have completed the toy kitchen, and the following instructions of part assembly
can help use it better!

/C.urtain Fixing Ti \
g Tips
@ 1]

n Notice:

The the anti-tip assembly can be secured on the wall to prevent the kitchen

from tipping during play.

It is recommended to place the kitchen against the wall during use.

Avoid placing the toy kitchen in open spaces and prevent your child from climbing on it.

The hardware accessories are primarily suitable for being assembled on walls shown in the instruction.
For other situations, consult your local hardware store to choose more suitable accessories.

Instruction of anti-tip assembly

Suitable Bricks/Materials

| |

52 &2 0
| |

Concrete | Naturaldense | Solid brick
I stone I
| | o .

— = | | Use the electric drill to drill holes on marks.

mﬂ I I The punching depth should be longer than the part to be inserted

Sand brick I Lightweight | Concrete (the expandable tube ®) . )
| concrete | hollow brick Place the expandable tubes @lnto the drilled holes.

\_ ) Finally.screw@ into two hole for the expandable tubes.
\. J

17



T

robud

www.robud.com



